[N EEFIhE AR ARTEE N ER AR
N S i==Fiv] 1% 2 Z 3 &
maiE] ZRE 672 682 H/H 1,363 /8 2,045 MH/RH
E= 632 641 /8 1,282 M/8 1,923 A/8
miE) ZRE 834 846 M/H 1,692 A/8 2,537 MH/R
E= 778 789 /8 1,578 A/8 2,367 M/H
MEIEB BfL 18] 2 & 3 &
Brl) Y F—2 3> 240 244 M/H 487 FM/H 730 M/H
RENBERE 24 25 H/H 49 M/H 73 M/H
BER 8 9 F/[E] 17 A/ 25 [M/[g]
EEER - EEEEXIERE (1) 51 52 F3/ME 104 F/[E] 156 [M/[A]
EEER - EEEEXIERE (1) 51 52 M/H 104 M/H 156 F/8
pep\tl 184 187 M/ME] 373 M/ 560 M/[d]
Y — X R EEFRL (1) 22 23 M/H 45 M/H 67 A/H
H— X R EFRL (1) 18 19 M/H 37 [/H 55 A/H
H— e X REEFERL () 6 6 M/H 12 M/8 18 M/H
HWEEFERE 275 279 M/H 558 M/H 837 M/H
RaRAEEE 518 526 M/H 1,051 M/8 1,576 /8
RAVEETTES - OEAEIRE A 200 203 M/H 406 M/H 609 /8
EFEMRIEANAEZA 120 122 M/H 244 M/H 365 M/H
ApRsE iRl 50 51 FM/[=] 102 /1A 153 [M/[E
EEME EHEERSINE (1) 100 102 M/H 203 M/ A 305 M/A
EEM M EHEEERSINE (1) 10 11 M/A 21 M/H8 31 [/R8
NEREFNBHE (1) AR AEHEAExT7.5%
NEREFLEHE (1) AR AEFEMAE<T.1%
NEREFMBHE () AR AAEHEAE x5.4%
NEREFMEHE (V) AR AETEAE < 4.4%
X 2 (GRA © THkith) B AR EAIH < 10.14
K EROSEIL, REEMBCHIEMNER RATHRNOZROGEE @ 1 Bi1=10.14M) %#ZE L CHHNEZIT-

TmEBERRLTWET, BEEFEEDNTED 2 HEICE > TRBULEEITH BfRE. EBROZHRELITETD

EZRNVELZHENDHY £,

Z Db Rl

RE oA 440 M/&

= 800 A/&

5 750 A/&
BEE ZRE 437 /A8

= 1,728 MH/8
= : FRR=ER (Fd) 1,100 /8
BERRE 200 M/H
BB R ER R 50 M/
OREIRE F 5 77 M/
e AE K 10,000 M
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